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QUIZ

1. �Local farmers blame Volkswagen for causing ... 
a) less available farming land. 
b) aridity in the area. 
c) an increase in hailstorms.

2. �What shape is the machine described by the journalist? 
a) conical 
b) spherical 
c) cubic

3. �Volkswagen’s intention in using the machine is to protect ... 
a) the roofs of new cars. 
b) car body paint. 
c) manufacturing robots.

4. �What do farmers intend to do? 
a) take their campaign to the United Nations 
b) prevent access to the Volkswagen factory 
c) obtain financial compensation

5. �Volkswagen has told the press that from now it will ... 
a) stop using the hail cannon completely. 
b) mainly use an alternative solution. 
c) ask the hail cannon company to improve its design.

6. �What is the journalist’s conclusion? 
a) We can’t prevent companies from experimenting. 
b) There is a simple solution to the problem. 
c) Volkswagen should worry about the negative publicity.

Answers : 1. b / 2. a / 3. a / 4. c / 5. b / 6. b


